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ECONOMICS
[PROGRAMME]
Skill Enhancement Course (SEC)
Course Code : ECO-G-SEC-T-2

Full Marks : 20 Time : 1 Hour
The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in

their own words as far as practicable.

1. Answer any five questions: 1x5=5
-] Ao 2esia Tex e ¢
a)  What is Histogram?
RIRCIGERES
b)  Find the range of the series:
8,27,42,18, 5
¢)  What do you mean by Kurtosis?

Kurtosis F61c® 9 & (31l 2

[Turn Over]

d)

g)

h)

The Arithmetic and Geometric Mean of a set of
observations are 27 and 9 respectively. Find the

value of Harmonic Mean.

@I FAREYTAR Sifafes o a3 wrered S
FAFE 27 8 9| @ Afrec s @ifors sicea st
o e |

The Arithmetic Mean and Median of a set of
observations are 32 and 41 respectively. Find

the value of mode.

@I AR NAfeF e a2 T IAEE
32€ 41| @ AfRerara AeE T e S|

What do you mean by Mean deviation?
9% 2N FeTce ofl fF @R

What is relative frequency?

e sAfica e e

What is ogive?

AT 2l 6 e

2. Answer any one question: 5x1=5

@I Q6 A0 TS WIS ¢

a)
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Calculate median from the following data:

fsfafie aiffreey (A S o e
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Age (in years): | 40-45 | 45-50 | 50-55 | 55-60 | 60-65 | 65-70

No. of people: 16 8 12 17 11 4

[_A (I=(F) & | 40-45 | 45-50 | 50-55 [ 55-60 | 60-65 | 65-70

G & 16 8 12 17 11 4
b) Calculate Mean Deviation from the following
data:
fesfeiiae qifrey (e sie A e e 3
Class boundary: | 12-14 | 14-16 | 16-18 | 18-20
Frequencies: 3 4 2 1
G ST ¢ 12-14 | 14-16 | 16-18 | 18-20
AR ¢ 3 4 2 1
c) What is the difference between population
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census and sample survey? Which one of these
is more suitable when the available data are very
large in number? Give reasons for your answer.

2+3=5

5§ OVE QIR T SMCSF WK OIS [ 2 W ARATS
ARSI AL STOTE (9N 2 O 3 13 Ao
S NG @R AN O FIHAE S 7 |
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3.  Answer any one question:

10x1=10

@I Q6 A0 TS WIS ¢

a)

The Arithmetic mean of the following frequency
distribution is 64.5, find the missing

frequencies: 10

awe 7T feiembg aifafes sie 64.5 3fee 5
srpsifze s wflt ey s

Height (inches): | 53-57 | 58-62 | 63-67 | 68-72 | 73-77 | Total

No. of people: 5 18 /5 fa 8 50

Tl (3fe) ¢ | 53-57( 58-62 | 63-67 | 68-72 | 73-77 | (WG

SR &

G S E I R I g8 | 50

b)

1)  Construct frequency table with class
interval 10 from the following data. The
following data reveal monthly wages (in
rupees) received by 25 workers in a

certain factory: 5

N 10 43 TS S ARy oA
e 55 awe 3@ | e anre e @i
FAANT 25 To-=f w4 (517 aFifre i

TG ¢

310 320 325 354 370 335 300 397 331 375 315 390 350

386 359 360 380 323 342 327 305 318 337 367 392
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Based upon the above data calculate
Arithmetic mean and Standard deviation.
5

ToRTE W fefers aAifdfes ofe @3k A
fRprfe fefa st |

Calculate mode from the following

frequency distribution: 5

are Ao [Aeie (At AdpesE S e
I ¢

Daily wages (in Rs.): | 50-59 | 60-69 | 70-79 | 80-89 | 90-99

No. of workers:

e SgE (GRA) 2 | 50-59 | 60-69 | 70-79 | 80-89 | 90-99

= ¢

6 14 16 13 3

ii)

Draw a Histogram from the following

frequency distribution: 5

0 avre Sz [eie (A 93t STeETe
SECEI I

Income (inRs.): | 150-175] 175-200 | 200-225 | 225-250 |250-275 | 275-300

No. of workers:

195 210 245 289 255 215

17 (BI) ¢ 150-175 175-200 | 200-225 | 225-250[250-275 | 275-300

wfaRaA ¢

195 210 245 289 255 215
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